145°
+ .
90° WSP Spotting

|
142°

iy

NC2033
» EE PO FEIBEINEE145°+90° >>
s hOILFIERE - —REA - EEER
. BAEBENEE EAIINAE
cEIEENT  UREE
—ERF=RMmERRER
= EREPLA 0Bl 1422 POE e {7
(9]
E ] I
i — ) 1
-] mfE LR |
H
85

» 7] ):II >> Dmax.

NC2033: « JJRTIEIY) O E

CZRME - EamE - SN Tmex
- TR B2M@EIHTI0
Part No. i = ME M *D1+0.05 D2 L2 Dmax. Tmax.

NI9MT0802M04C-NC2033 M4x0.7 3.30 420 0.93 2.83
NI9MT0802M05C-NC2033 TiAIN K20F M5x0.8 4.20 525 1.14 8 2.52
NI9MT0802M06C-NC2033 M6x1.0 5.00 6.30 1.39 2.24
NOMT11T3M08C-NC2033 M8x1.25 6.80 8.40 1.81 4.1
NIMT11T3M10C-NC2033 TR or . M10x1.5 8.50 10.50 2.28 r 3.53
NOMT11T3UNC25-NC2033 g; 1/4-20 UNC 5.08 6.70 1.55 4.70
NOMT11T3UNC31-NC2033 TIAIN K20F - 5/16-18 UNC 6.53 8.40 1.90 13 4.20
NOMT11T3UNC38-NC2033 3/8-16 UNC 7.94 10.00 2.22 3.72
NI9MT1704M12C-NC2033 M12x1.75 10.25 12.60 2.91 6.61
NI9MT1704M14C-NC2033 TiAIN K20F M14x2.0 12.00 14.70 3.22 20 5.87
NO9MT1704M16C-NC2033 M16x2.0 14.00 16.80 3.51 5.11

AR * D1 ALREMEERT -
* Bl ERES%EL-258 -

1-13 | Nine9 Cutting Tool & Tool Holders



WSP Spotting

> JJIR >>
. EREEE R S S R 1R
— RS2

o FULALANEA -

@10 @3/8”

ORI

Nimedo s i o f

216 @5/8”
TR

- oot o LAY KO, 285 34

145°
+
90°

@20 @34
=
J o
Order No. Part No. @d L T RER M 92 44 iR E :%-
99616-10 BC10-CT-10 10 i
89.08:020 NOMT0802  Md4~M6 1530055 /Q NK-T8 g
99616-10-3/8 BC3/8"-CT-10 3/8" ONm
99616-14 SB16-CT-15 16 M8~M10
9755055  NOMT11T3 — ’2“\?3;\?5080 /Q NK-T15
99616-14-5/8  SB5/8"-CT-15 5/8" 1/4~3/8 UNC 5Nm
99616-22 SB20-CT-22-100L 20 96.24+0.64
99616-22-1 SB20'-CT-22 1 NOMT1704  M12~M16 ’;‘2&50125 NK-T20
146.24+0.64 5Nm
99616-22-25 SB25-CT-22-150L 25
* HR~T /1821 1-7 & 1-88
» &8 5l >> % M6 7,
- BIAEEEASBA AR M6+5% {2l 5 M6+1mm 15
BIMGH 47,818 R <5 B 6. 3mm _ -
cMRFEFAWNEE  REBEAFEIZFEND]
i i
1 I 1
1 I 1
1 1 1
b LE R >>
55 Sit) Bet 4R 5 oh 05 + S 58 WSPth /)88 + $E 58
o« AT «MIEBEE _ -
= S « MILMEERE -« POEMNIBE
o . SEEES AR -

cJBEmk B OARESNT

- BFNEMITABE « JJESEmE

11

3@@:‘2}2) aPVY ) Azl ) ‘fE\é@qu/ﬂ)fE%iEE&%W"‘ﬂfqa NCE#%E Fsk 1-14




I )

PW W Fl, >> 145°+90° W FHilvFL

W gt AL NE
P= JJRRERXIE
| N 05= Z2HFTEZEEE
Lreq. =Dreq. x 0.5-P oo
} Lreq.= SBFLRME
L Dreq.= &KR~
3
o 1/4-20 5/16-18 3/8-16
g 1 Dreq. M4 M5 M6 M8 M10 M12 M14 M16 UNC UNC UNC
P= 117 148 176 239 297 359 419 4.88 1.80 2.30 2.78
W g THME Ve (m/min) f (mm/rev.)
fiik £ 150 ~ 300 0.05 ~0.15
asi 120 ~ 250 0.05~0.10
A i 8 80 ~ 150 0.04 ~0.08
3)[\ ' =55 100 ~ 200 0.05 ~0.10

7] PNOMT-RC JJH >> ENfE S
FEhEE R EEAR:
TEMTREBEERRE - Sk FIANSTEERRERIRE

(] 3 1 75 BEAE
d= JJERIJHEMEE

d=2xX mm
x= JIE{RME(Z%EP16~18 RCJIR)

Ve x 1000 ve = YJHIZRE -m/min.
_— 7

axm P - R -rp.m.

F= mm/min.

F=Sxf mm/min. _
f= mm/rev.

JEREE LMRERERS

AL « | | x= JEREMEEEP16~18 RCTIA)
Ty Y= chHEEER(2EP16~18 RCTIF)
H=X = JERE

L= JJERERE

H= JJBREFE

RC Insert THEME Ve (m/min) f (mmi/rev.) TR iE=E
ik £ 150~320 0.05~0.10 NC40, NC2071
axif 100~250 0.05~0.10 NC40, NC2071
=8 Zi 80~150 0.04~0.08 NC40, NC2071
Nk 65~125 0.05~0.10 NC9036

. =i 150~250 0.05~0.10 NC40, NC2071
5 3 <12% 150~320 0.05~0.10 NC9036
2% >12% 100~300 0.05~0.10 NC9036
FiE) 200~250 0.05~0.10 NC9036
=8 & S8 150~250 0.05~0.10 NC9036
. % HRE® 40-80 0.03~0.08 NC9036

1-25 | Nine9 Cutting Tool & Tool Holders



	耐久切削刀具綜合目錄_No.9 - 複製_部分10
	耐久切削刀具綜合目錄_No.9 - 複製_部分11
	耐久切削刀具綜合目錄_No.9 - 複製_部分22

